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(a) Draw the CPT device. (b) Draw the SPT device.

(¢c) What is the most distinctive advantage of (d) What is the most fundamental reason for
SPT compared to CPT? landslide occurrence?

(¢) What kind of equilibrium are we using for | (f) For infinite slopes with a planar slip
deriving the factor of safety for finite slopes surface, the bigger the unit weight of the
with a circular slope surface? slope material, the larger the factor of

safety, is that correct? (answer is yes or no)

(g) When you become a professional | (h) Say the calculated Qs = 1000 kN, what is
geotechnical engineer in the future, what the design value given the factor of safety
method will you use the most for analyzing equal to 5 for this pile foundation.
the safety margin of a finite slope?

(i) Why does a precast concrete pile have a | (j) Based on the supporting mechanism, we
higher Qs compared to a steel pile? categorize piles into two kinds. What are

they?




